D1viSION: DECIMAL NUMBERS (G-1)

Name:
SOLUTIONS: TEST 1
Time: - Score: y—
1) 514 : 10=514 2) 4440 : 10=444
~50 ~40
14 4 4
—10 —40
40 40
—40 —40
0 0
3) 3120: 5=6214 4) 1865 : 5=373
~30 15
12 36
—10 —-35
20 15
—20 15
0 0
5) 40944 : 6=6.824 6) 840 : 7=120
—36 -7
49 14
a8 14
14 00
12 0
24 0
— 24
0
7) 2603 : 1=2.603 8) 16643 85=195.8
-2 — 85
06 814
- 6 — 765
00 493
-0 — 425
03 680
- 3 —680
0 0
9) 341292 : 51=66.92 10) 62202 : 21=2962
—-306 —4 2
352 202
-306 —-189
469 130
—459 —126
102 4 2
—102 —42
0 0
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